SCMP Nov crosstabs results

Custom Tables

Table 1

sex Gender 15

1 Male 5 2 Female % Total
Column Valid N Column Valid N Column Valid N
Count % Row Valid N % Count % Row Valid N % Count % Row Valid N %
$Q1 What qualities should 1 leadership 7555 A 6 276 59.5% 363 66.1% 63.1% 100.0%
the chief i he il
D::'E':e:)f\cgﬂ‘;; :05052257 2 good relationship with 122 26.4% 53.7% 106 19.2% 46.3% 228 22.5% 100.0%
fse o012t Mg Dong SR AP
8 AL T SDEE 3 vision for Hong Kong's long- 319 68.8% 45.9% 376 68.4% 54.1% 694 68.6% 100.0%
term development #f # &
BRRATER
4 familiar with the operation of 125 27.0% 41.7% 175 31.8% 58.3% 300 29.6% 100.0%
the government %
&
5 ability to win support from 85 18.4% 56.8% 65 11.8% 43.2% 150 14.8% 100.0%
various political parties {3%]
RV
6 personal integrity 77 {E Ak 242 52.2% 45.2% 293 53.3% 54.8% 534 52.8% 100.0%
fi
8887 Others. (please 10 2.2% 45.4% 12 2.2% 54.6% 22 2.2% 100.0%
specity 1)
8888 Don't know/hard to say 15 3.3% 35.4% 28 5.1% 64.6% a4 4.3% 100.0%
W
Total 463 100.0% 45.7% 549 100.0% 54.3% 1012 100.0% 100.0%
Pearson Chi-Square Tests
sex Gender 171
$Q1 What qualities should ~ Chi-square 25.300
the chief executive who wil
be elected in 2012 possess? df 8
1aR 20124 B AT IT B I .
B EpbTEDEE? S oora
Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in this subtable
Custom Tables
Table 1
agegp2 i
118-29 230-49 350 KL E Total
Column Valid N Column Valid N Column Valid N Column Valid N
Count Row Valid N % Count Row Valid N % Count Row Valid N % Count Row Valid N %
$Q1 What qualities should 1 leadership 7555 A 6. 130 67.2% 20.6% 266 67.8% 42.3% 56.2% 37.1% 62.9% 100.0%
the chief itiy he
b:;e':‘e:)ﬁc:o;; :0:5‘:;57 2 good relationship with 21 10.8% 9.2% 88 22.5% 39.2% 116 27.9% 51.6% 225 22.5% 100.0%
B0 Do SRR
e gﬁ“T*Dﬁg ? 3 vision for Hong Kong's long- 149 77.5% 21.7% 295 75.2% 42.8% 245 59.0% 35.5% 690 68.9% 100.0%
term development 75t [
BRRATER
4 familiar with the operation of 74 38.3% 24.7% 115 29.2% 38.5% 110 26.5% 36.8% 298 29.8% 100.0%
the government %
&
5 ability to win support from 24 12.4% 16.0% 70 17.7% 46.7% 56 13.4% 37.3% 149 14.9% 100.0%
various political parties {3%]
BRI
6 personal integrity 77 {E Ak 117 60.7% 221% 213 54.3% 40.3% 199 47.8% 37.6% 529 52.8% 100.0%
8887 Other (please 3 1.7% 14.5% 7 1.8% 31.0% 12 2.9% 54.5% 22 2.2% 100.0%
specity #1)
8888 Don't know/hard to say 2 9% 4.2% 6 1.6% 14.4% 36 8.5% 81.4% 44 4.4% 100.0%
W
Total 193 100.0% 19.3% 393 100.0% 39.2% 415 100.0% 41.5% 1001 100.0% 100.0%
Pearson Chi-Square Tests
agegp2 i
$Q1 What qualities should ~ Chi-square 122254
the chief executive who will
be elected in 2012 possess? df 16
raR 20124 B AT IT B g
B EpbTEDEE? S o00'a

Results are based on nonempty rows and columns in each innermost subtable.

*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in this subtable



Custom Tables

Table1

edugp_TP Education level i

1 Primary or below /[\5# 8 S 5 1) T

2 Secondary {15

3 Tertiary or above A Sisi) 1

Total

Column Valid N
%

Column Valid N
%

Column Valid N
%

Column Valid N
%

Count Row Valid N % Count Row Valid N % Count RowValidN%  Count Row Valid N %
$Q1 What qualities should 1 leadership 775 1 i 62 47.3% 337 65.7% 65.4% 63.2% 100.0%
the chief executive Who will
be clcted n 2012 possess? 29000 elationstip i 32 24.5% 14.3% 121 23.7% 53.5% 73 20.2% 32.3% 227 22.6% 100.0%
iRzl m TR Do ALEMR R
& Wb FADFE 7 3vision for Hong Kong's long- 68 51.4% 98% 346 67.6% 50.2% 276 76.5% 40.0% 690 68.7% 100.0%
term development % i £
BREAER
4 familiar with the operation of a 31.4% 13.8% 150 20.3% 50.0% 109 30.1% 36.2% 300 20.8% 100.0%
the government 74 EELIFiE
1
5 ability to win support from 19 14.7% 13.0% 65 12.7% 43.5% 65 18.0% 43.5% 150 14.9% 100.0%
various political parties {3 %]
HROIRIT LI
6 personal integrity 4 A% 52 39.2% 9.7% 267 52.1% 50.2% 213 58.9% 40.1% 531 52.8% 100.0%
8887 Others L (please 5 3.4% 21.0% 13 2.5% 59.1% 4 1.2% 19.9% 22 22% 100.0%
specil )
8888 Don't knowlhard to say 18 13.3% 4La% 19 3.8% 45.7% 5 15% 12.9% 42 4.2% 100.0%
E
Total 132 100.0% 13.1% 512 100.0% 50.9% 362 100.0% 36.0% 1006 100.0% 100.0%
Pearson Chi-Square Tests
edugp_TP Education level 5
B
$Q1 What qualities should  Chi-square 107.238
the chief executive who will
df 16
Sig. 000"
Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in this subtable
Custom Tables
Table1
occgp Occupation il
2 Clerks / Senvice workers and shop sales CRt 2 iP5
1 Managers and administrators/ Professionals /7502 %5 A & AE 3 Workers 5581\ 4 Students 6 Others fi: Total
Column Valid N Column Valid N Column Valid N Column Valid N Column Valid N Column Valid N Column Valid N
Count % Row Valid N % Count % Row Valid N % Count % RowValidN%  Count % RowValidN%  Count % RowValidN%  Count % RowValidN%  Count % Row Valid N %
$Q1 What qualities should 1 leadership #7451 1 fit n 67.4% 27.3% 145 65.4% 23.1% 47 59.5% 49 69.5% 97 64.9% 15.4% 18 55.0% 18.8% 626 63.4% 100.0%
the chief executive who will
be slected in 2012 possess? 2 900d relationship with 44 17.4% 19.8% 52 23.4% 23.2% 19 24.6% 8.6% 6 8.5% 27% 39 26.4% 17.6% 63 20.3% 28.1% 223 22.6% 100.0%
e B, Beijing 1L T {5 L AT
{RER B20124F AT (T LI '
& B 4bL[SDFE 7 3vision for Hong Kong's long- 188 741% 27.7% 165 74.6% 20.4% 51 65.7% 7.6% 56 79.5% 8.3% % 60.5% 13.3% 126 58.9% 18.6% 677 68.6% 100.0%
term development #f % i £
BREAER
4 familiar with the operation of 70 27.4% 23.7% 74 33.5% 25.2% 19 24.7% 6.6% 31 43.3% 10.5% 50 33.4% 17.0% 50 23.4% 17.1% 204 20.7% 100.0%
the government 74 & FLIFiE
1E
5 ability to win support from 46 18.2% 3L.9% 26 11.9% 18.2% 12 15.8% 8.5% 7 10.1% 5.0% 20 13.3% 13.7% 33 15.4% 22.7% 145 14.7% 100.0%
various political parties {3 %]
HROIRIT LT
6 personal integrity 74 A% 157 61.9% 30.0% 16 52.4% 22.2% 32 40.4% 6.1% 49 69.5% 9.5% 75 50.1% 14.3% 94 43.9% 18.0% 523 52.9% 100.0%
f&
8887 Others L (please 2 9% 10.7% 1 5% 4.6% 2 3.0% 10.7% 1 20% 6.5% 6 3.8% 25.9% ° 4.2% 41.5% 22 2.2% 100.0%
specify 3
8888 Don't knowlhard to say 5 2.0% 1L.9% 6 25% 13.3% 2 3.0% 5.7% o 0% 0% 10 7.0% 25.0% 18 8.6% 44.2% 42 4.2% 100.0%
TEEI
Total 253 100.0% 25.7% 221 100.0% 22.4% 78 100.0% 7.9% 7 100.0% 7.2% 149 100.0% 15.1% 214 100.0% 21.7% 987 100.0% 100.0%

Pearson Chi-Square Tests

$Q1 What qualities should ~ Chi-square
the chief executive who will

be elected in 2012 possess?
IRER 1520126 B MAY(TBLR
B AL FMDHE?

LY
&

occap Occupation [
35.150

40

000"

Results are based on nonempty rows and columns in each innermost subtable.

*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in this subtable



Crosstabs

Q2 If you were to vote for CE tomorrow and there are only XXX, YYY and ZZZ as candidates, who would you vote for? M1 RIEH B IRIZRENE - MSBEEREXXX  YYYREZZZ - {REEZME ? * sex Gender H 5

Crosstab
sex Gender 5]
1 Male 2 Female % Total
Q2 If you were to vote for CE 1 Leung Chun-ying#{3  Count 223 25 478
oo e o are only 9% within sex Gender {£:5] 48.1% 46.6% 47.3%
candidates, who would you 2 Henry Tang Ying-yen % Count 1 a1 241
vote for? {ORFSH IR 4 96 within sex Gender 71 o R
iy 00K sex Gender {5 23.9% 238
YYY[EZ2Z > @& (H? 3 Albert Ho Chun-yan fi [~ Count 20 17 38
96 within sex Gender 1] 4.4% 3.2% 3%
8885 None of the above 11 - Count 76 % 166
“ 96 within sex Gender 5] 16.4% 16.3% 16.4%
8887 Others 1L (please _ Count 1 T 2
e
specly FEEF) 9% within sex Gender 151 % % 2%
8888 Don't knowlhard (0 say _ Count 32 55 87
B R
s 9% within sex Gender 151 69% 100% 8.6%
Total Count 463 549 1012
96 within sex Gender 1] 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value af sided)
Pearson Chi-Square 4.265" 5 512
Likelihood Ratio 4.308 5 506
Linear-by-Linear Association 1072 1 301
N of Valid Cases 1012

a. 2 cells (16.7%) have expected count less than 5. The minimum expected count is .94,

Q2 If you were to vote for CE tomorrow and there are only XXX, YYY and ZZZ as candidates, who would you vote for? M RIEER B RIGZEEIFE - MSBEREXXX ~ YYYEZZZ - IREGEIEE ? * agegp2 F#’

Crosstab
agegp2 i
118-29 230-49 350 kL Total
Q2 If you were to vote for CE 1 Leung Chun-ying#fi:%  Count 188 180 473
tomorrow and there are only s
XXX, YYY and 22 as % within agegp? - 54.0% 47.9% 43.4% 47.2%
candidates, who would you 2 Henry Tang Ying-yen 5 _ Count 36 98 105 240
vote for? ‘B F IR hi 2
B TSR AKX % within agegp2 7§ 18.8% 25.0% 25.3% 23.9%
YYY[§122Z - (@5 ? 3 Albert Ho Chun-yan [772[~_Count g 12 7 38
9% within agegp2 fF it 47% 2.9% 41% 3.8%
8886 None of the above 1) I _Count 31 70 64 165
&5
% within agegp2 7§ 16.2% 17.9% 15.3% 16.5%
8887 Others JLffs (please  Count 1 0 1 2
EE
Specly FEE) % withn agegp? 4 % 0% 2% 0
8888 Don't know/hard to say _ Count 1 25 9 84
AT
% within agegp2 fF i 5.7% 6.2% 11.7% 8.4%
Total Count 193 393 15 1001
% within agegp2 fF i 100.0% 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 20.633" 10 024
Likelihood Ratio 20.383 10 026
Linear-by-Linear Association 1.730 1 188
N of Valid Cases 1001

. 3 cells (16.7%) have expected count less than 5. The minimum expected count is .39.

Q2 If you were to vote for CE tomorrow and there are only XXX, YYY and ZZZ as candidates, who would you vote for? MIRIEEH #IRIZRENE - MSBEEREXXX * YYYREZZZ - {REEEE ? * edugp_TP Education level B

Crosstab

Q2 If you were to vote for CE 1 Leung Chun-ying%
tomorrow and there are only
XXX, YYY and 227 as

edugp_TP Education level 5/t

candidates, who would you _
vote for? 404U [ (a3 2 Henry Tang Ying-yeni 5t

1 Primary or 3 Tertiary or
below /S5 % 2 Secondary '  above A B )L
HBLF L3 E Total
Count 44 249 181 474
9 within edugp_TP Education 33.5% 48.6% 50.0% 47.1%
level 227
Count a 127 70 241



BERE BB R HARR

2 96 within edugp_TP Education 3.4% 21.8% 19.4% 24.0%
YYY[22Z - s Jevel E3E
3 Albert Ho Chun-yan 2/ Count 2 2 n EJ
9% within edugp_TP Education 14% 43% 3.0% 38%
level 572
886 None of the above 11 1. Count 7 7 76 165
s
; 9% within edugp_TP Education 125% 182% 21.0% 16.4%
level 52
867 Others JEL (please _ Count 0 T T 2
N
specly FEEF) 9% within edugp_TP Education % 1% 4% 2%
level 52
5838 Don't know/hard fo say _ Count % T 20 8
T
s % within edugp_TP Education 19.2% 8.0% 5.4% 8:5%
level £
Total Count = 512 362 1006
9% within edugp_TP Education 100.0% 100.0% 100.0% 100.0%

level %

Chi-Square Tests

Pearson Chi-Square
Likelihood Ratio
Linear-by-Linear Association

N of Valid Cases

Value
46.962"

43814

.09

1006

Asymp. Sig. (2-
sided)
000

000
756

a. 4 cells (22.2%) have expected count less than 5. The minimum expected count is .27

Q2 If you were to vote for CE tomorrow and there are only XXX, YYY and ZZZ as candidates, who would you vote for? IR IE F{R{RIGEENRE - MSEERBXXX * YYYEZZZ - {REIERE ? * occgp Occupation Mz

Crosstab

occgp Occupation i

1 Managers and 2 Clerks /
administrators/  Senvice workers
Professionals {7 and shop sales 3 Workers %) 5 Housewives 5
BURHEAR  CMRIESAS A 4 Students 54 3] 6 Others ££: Total
Q2 you were to vote for CE 1 Leung Chun-ying#:4:%  Count 124 109 43 60 88 467
tomorrow and there are only
300 ¥ and 222 25 9 within occgp Occupation 49.0% 49.4% 54.3% 61.0% 40.1% 41.0% 47.3%
candidates, who would you
Vote for? 40845 1 i iam 2 Henry Tang Ying-yen, Count 59 54 16 12 8 50 239
BEE - MSEEAAXK. T 9% within occgp Occupation 23.1% 24.4% 20.9% 16.6% 32.4% 23.4% 24.2%
YYY[RZZZ - frisiat 2
3 Albert Ho Chun-yan [~ Count 16 8 2 1 7 7 38
9 within occgp Occupation 6.3% 3.5% 2.9% 1.1% 2.6% 3.2% 28%
8886 None of the above 1 I._Count 2 a7 ) 3 21 34 159
e
9 within occgp Occupation 16.6% 16.9% 14.2% 17.7% 14.3% 15.9% 16.1%
8887 Others L[l (please _ Count 2 o 0 o 0 0 2
.,
pecily FEEF) 9% within ocegp Occupation 8% 0% 0% 0% 0% 0% 2%
8888 Don't knowlhard (0 say _ Count 10 3 6 3 16 35 83
T R
s 9 within occgp Occupation 21% 5.8% 7.1% 37% 105% 165% 8.4%
iE
Total Count 253 221 78 71 149 214 987
9 within occgp Occupation 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 53.985" 2 001
Likelihood Ratio 51.564 25 001
Linear-by-Linear Association 6.694 1 010
N of Valid Cases 987

a. 8 cells (22.2%) have expected count less than 5. The minimum expected count is .15.

Q3 If you were to vote for CE tomorrow and there are only XXX and YYY as candidates, who would you vote for? fIREE B {2 {RIZFERE - MSEERBXXXEYYY - {REERME ? * sex Gender #£5

Crosstab

Q3 If you were to vote for CE
tomorrow and there are only
XXX and YYY as candidates,
who would you vote for?

B R TOSES
SEDEOKEYYY -+ i
8 7

sex Gender 1%/

1

1 Male % 2 Female % Total
1 Henry Tang Ying-yen Count 118 263
: 9 within sex Gender {51 25.5% 26.5% 26.0%
2 Leung Chun-ying {3 Count 254 279 533
9% within sex Gender £ 54.9% 50.9% 52.7%
8886 None of the above ), |- Count 61 79 139
ol 96 within sex Gender 15| 13.1% 14.3% 13.8%




8388 Don't know/hard (o say Count 30 6 76

o
I 9 within sex Gender {471 66% 8.3% 7.5%
Total Count 463 549 1012
% within sex Gender {7 100.0% 100.0% 100.0%
Chi-Square Tests
‘Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 2.194* 3 533
Likelihood Ratio 2.203 3 531
Linear-by-Linear Association 1.377 1 241
N of Valid Cases 1012

a. 0 cells (.0%) have expected count less than 5. The minimum expected count is 34.83.

Q3 If you were to vote for CE tomorrow and there are only XXX and YYY as candidates, who would you vote for? iIRER #RIGFRERE - MSEEREXXX BYYY - (RFEIRE ? * agegp2 F#

Crosstab
agegp2 i
118-29 230-49 Total
Q3 If you were to vote for CE 1 Henry Tang Ying-yenfii  Count 40 109 113 262
tomorrow and there are only e
Y00 and YYY as candidates, 9% within agegp2 ‘-t 206% 27.8% 27.2% 26.2%
would you vote for? #0154 2 Leung Chun-ying 7% Count 120 212 196 528
BEE MR RS - TS % withi 2 4 54.0% 7.1%
HEREOKEVYY - 18 within agegp2 7F 62.0% 4. 4 52.7%
7 8886 None of the above 1) F-_Count 24 51 63 138
&5
% within agegp2 fF i 12.6% 13.1% 15.1% 13.8%
8888 Don't know/hard to say _Count o 20 a4 73
AT
b % within agegp2 fF i 4.7% 5.1% 10.6% 7.3%
Total Count 193 393 15 1001
% within agegp2 7§ 100.0% 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 19.923° 6 003
Likelihood Ratio 19816 6 003
Linear-by-Linear Association 7.341 1 007
N of Valid Cases 1001

. 0 cells (.0%) have expected count less than 5. The minimum expected count is 14.05.

Q3 If you were to vote for CE tomorrow and there are only XXX and YYY as candidates, who would you vote for? M1 RER @ RIFFERE - MSEERBEXXX AYYY - {REEEE ? * edugp_TP Education level BE

Crosstab
edugp_TP Education level /¢
1 Primary or 3 Tertiary or
below /#5152 Secondary ¢ above A HsiLl
LT B p Total
Q3 you were to vote for CE 1 Henry Tang Ying-yeni#  Count 46 138 79 263
tomorrow and there are only 5
XXX and YYY as candidates, o wibin eduge TP Education 35.1% 27.0% 21.8% 26.2%
who would you vote for? 11: ovel 78
FAE (SR 7% 2 Leung Chunying RIRF  Count 0 274 206 529
HEHRAOXFEYYY > i 9% within edugp_TP Education 37.4% 53.4% 56.9% 52.6%
il 2 evel £
8886 None of the above 1] I~ _Count 12 67 60 139
e
! 96 within edugp_TP Education 8.9% 13.0% 16.7% 13.8%
level £
8888 Don't knowihard to say _ Count 24 34 7 75
sl 9 within edugp_TP Education 185% 6.6% 4.6% 7.4%
level £4te
Total Count 132 512 362 1006
96 within edugp_TP Education 100.0% 100.0% 100.0% 100.0%
level £4re
Chi-Square Tests
Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 44.466° 6 000
Likelihood Ratio 39311 6 000
Linear-by-Linear Association 872 1 350

N of Valid Cases 1006

a. 0 cells (.0%) have expected count less than 5. The minimum expected count is 9.81

Q3 If you were to vote for CE tomorrow and there are only XXX and YYY as candidates, who would you vote for? iIRER @ RIZFERE - MSEEREXXX EYYY - {RE#EEME ? * occgp Occupation M



Crosstab

occgp Occupation i

1Managersand 2 Clerks /
administrators/  Service workers
Professionals {7 and shop sales

3 Workers %)
TA

5 Housewives 5

RERAA  SOMRESAR 4 Students %4 EER 6 Others i Total
Q3 I you were to vote for CE 1 Henry Tang Ying-yen&i  Count 62 61 13 50 57 261
tomorrow and there are only
Y00 and YYY as candidates, 9 within occgp Occupation 24.4% 27.5% 23.9% 18.5% 33.5% 26.6% 26.5%
who would you vote for? 41 L
S ffu s o - e 2 Leung Chunwying R3S Count 144 118 3 9 66 98 522
:; ; ;,;gyxxx BIYYY » i % within occgp Occupation 57.0% 53.4% 59.3% 68.6% 44.3% 45.8% 52.9%
8886 None of the above 1 L. _Count 37 32 9 7 18 30 132
s 9 within occgp Occupation 145% 14.3% 11.1% 9.2% 12.2% 14.2% 13.4%
.
8888 Don't know/hard (o say _ Count 10 iy 5 3 15 29 72
s
s 9 within occgp Occupation 41% 48% 5.8% 37% 10.0% 13.5% 7.3%
.
Total Count 253 221 78 71 149 214 987
9 within occgp Occupation 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value dt sided)
Pearson Chi-Square 35,748 15 002
Likelihood Ratio 34528 15 003
Linear-by-Linear Association 5.493 1 019
N of Valid Cases 987

2. 0 cells (.0%) have expected count less than 5. The minimum expected count is 5.16,

Q4gp To what extent a chief executive candidate’ s campaign team and prominent supporters will affect your preference for him or her? BRI E2EARREARE T EXHEHRERSRMEETIHE? * sex Gender 1£5)

Crosstab

sex Gender 15

1 Male % 2 Female % Total
Q4gp To what extent a chief 1 Affect substantially / Affect Count 135 132 267
executive candidate's quite a lot SR A/ AT
campaign team and % within sex Gender {5 29.1% 24.1% 26.4%
prominent supporters will 3 Half-hall - Count 6 77 123
affect your preference for him
or her? B & &5 A G 9% within sex Gender {71 10.0% 13.9% 12.2%
:ﬁ i gf’ ;;l s 4 Not much affect/ No effect  Count 263 297 560
FH BT | BT A e A
aall WATAEEAHY g ihin sex Gender 171 56.8% 54.2% 55.4%
8888 Don't know/hard to say Count 19 43 62
5
B 96 within sex Gender 15| 4.0% 7.8% 61%
Total Count. 463 549 1012
9% within sex Gender 1] 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value a sided)
Pearson Chi-Square 11.761° 008
Likelihood Ratio 12.004 3 007
Linear-by-Linear Association 6.237 1 013
N of Valid Cases 1012

. 0 cells (.0%) have expected count less than 5. The minimum expected count is 28.14.

Q4gp To what extent a chief executive candidate’ s campaign team and prominent supporters will affect your preference for him or her? AR ESEARREERR T ESZREHMEFERNEETHE? * ageqp2 £

Crosstab
agegp2 1t
118-29 230-49 350 Total

Qagp To what extent a chief 1 Affect substantally / Aflect Count 52 101 262
:::;:;f, S s ORI g, yiin agegp fit 27.0% 25.7% 26.3% 26.2%
prominent supporters will 3 Halt-nall - F Count 30 56 37 123
21'22‘,?’2;;’;2’%25; ff;ﬁ;; 9% within agegp2 fF i 155% 14.3% 8.9% 12.3%
e :15;/ ;{Ehmsﬁ :‘Nol much affect/ No f"eg'/, Count 109 219 227 555
e 32! WETAIREAAY g yinin agegp st 56.5% 55.8% 54.5% 55.4%

8888 Don't know/hard (o say _ Count 2 7 2 61

i 9% within agegp2 fF 4 9% 4.2% 10.2% 61%

Total Count 193 303 15 1001
9% within agegp2 fF 4 100.0% 100.0% 100.0% 100.0%




Chi-Square Tests

Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 28.858" 6 000
Likelihood Ratio 31997 6 000
Linear-by-Linear Association 22708 1 000

N of Valid Cases 1001

. 0 cells (.0%) have expected count less than 5. The minimum expected count is 11.70.

Q4gp To what extent a chief executive candidate’ s campaign team and prominent supporters will affect your preference for him or her? FBERSESEARREERE T ES HEHREFESRMEEFTHE? * edugp_TP Education level BE

Crosstab
edugp_TP Education level I
T Primary or 3 Tertiary o
below /[\S:§2% 2 Secondary 1 above AHaL
ST L3 E Total
Qagp To what extent a chief 1 Affect substantially / Affect ~ Count 2 17 122 266
executive candidate’s quite a lot §5 48 A A
campaign team and J ‘% wlvl:;n edugp_TP Education 20.2% 22.9% 33.7% 26.4%
prominent supporters wil o
affect your preference for him 3 Half-half - Count 10 55 56 120
or her? FEHE i A BER 9% within edugp_TP Ed
1gp_TP Education 7.2% 10.6% 15.6% 12.0%
TR ) B s level S/
B
HE AT 4 Not much affect No effect _ Count 76 B 172 559
] et
atall WEAAIELEAY o ihin edugp_TP Education 57.6% 60.7% 475% 55.5%
= level 5
5888 Don't know/hard fo say_ Count 20 30 2 61
=
B 9 within edugp_TP Education 15.0% 58% 3.2% 6.1%
level 5
Total Count 132 512 362 1006
9% within edugp_TP Education 100.0% 100.0% 100.0% 100.0%
level 5
Chi-Square Tests
Asymp. Sig. (2-
Value df sided)
Pearson Chi-Square 7607 6 000
Likelihood Ratio 43552 6 000
Linear-by-Linear Association 19376 1 000

N of Valid Cases 1006

a. 0 cells (.0%) have expected count less than 5. The minimum expected count is 7.98.

Q4gp To what extent a chief executive candidate’ s campaign team and prominent supporters will affect your preference for him or her? AR ESEARREERE T EZ REFHMEFERMEETTHE? * occgp Occupation %

Crosstab
occgp Occupation fif
1 Managersand 2 Clerks /
adminisurators/  Service workers
Professionals {7 and shop sales 3 Workers % 5 Housewives %
HREEAR XBEEHAR A 4Swdents 54 Fiifd 6 Others It Total
Qagp To what extenta chief 1 Affect substantially / Affect Count 8 0 1 2 r 52 262
executive candidate’s quite a lot §2 AL A
o ot ane % 3% witinoscgp Occupatn 26.8% 27.3% 20.7% 32.6% 28.6% 24.1% 265%
prominent supporters wil
affect your preference for him 3 Half-half —=: Count 38 34 7 11 15 15 120
or her? FE S i A BER % within occgp Occupati
9p Occupation 15.1% 15.2% 9.1% 15.0% 10.1% 7.0% 121%
BB 3 AR e
Pt}
HEBEATTRR? ZNot much affect/ No effect _ Count 144 118 8 B 78 121 547
BT A EE
atall WERAIELAHY o ithin ocogp Occupation 56.9% 53.4% 61.7% 525% 52.6% 56.5% 55.4%
- i
8888 Don' knowhard to say_ Count 3 B 7 0 1 % E
&
B 9 within occgp Occupation 1.2% 41% 8.6% % 87% 123% 5.9%
i
Total Count 253 21 7 7T 129 21 %87
96 within ocegp Occupation 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
i
Chi-Square Tests
Asymp. Sig. (2-
Value a sided)
Pearson Chi-Square 45803 15 000
Likelihood Ratio s1.446 15 000
Linear-by-Linear Association 25325 1 000
N of Valid Cases 987

. 2 cells (8.3%) have expected count less than 5. The minimum expected count is 4.20.

Crosstabs



Q5 Chief Executive hopeful Henry Tang Ying-yen admitted earlier having made a “mistake” that damaged the bond with his wife. Has the incident caused any impacts on your view for Tang to run in the chief executive election? B3 E R i &R ML — * sex Gender 145

Crosstab

sex Gender 5]

1Male 2 Female % Total
Q5 Chief Executive hopeful 1 Turn positive (=i Count 7
Henry Tang Ying-yen .
admitted earlier having made 9% within sex Gender {17 5% 10% 7%
amistake” that damaged the 2 Tum negative Z11i Count 125 218 344
bond vith his wie. Has the .
incident caused any mpacts 96 within sex Gender 1] 27.1% 30.8% 34.0%
on your view for Tang to run - 3 No impact/ 1202 Count 314 289 603
in the chief executive
election? FE 17 SR AZ 96 within sex Gender 1] 67.8% 52.6% 50.6%
7 Dont support himin the _ Count 3 12 15
first place k5 4 £,
frst place &5 F25H o4 within sex Gender 7] 5% 22% 15%
88688 Don't knowlhard (0 say _ Count 19 2 a3
T R
R 9% within sex Gender 151 21% 45% 4.3%
Total Count 463 549 1012
96 within sex Gender 1] 100.0% 100.0% 100.0%

Chi-Square Tests

Pearson Chi-Square
Likelihood Ratio
Linear-by-Linear Association

N of Valid Cases

Value
27.357*

28.062

084

1012

Asymp. Sig. (2-
sided)
000

000
772

. 2 cells (20.0%) have expected count less than 5. The minimum expected count is 3.37.

Q5 Chief Executive hopeful Henry Tang Ying-yen admitted earlier having made a “mistake”

that damaged the bond with his wife. Has the incident caused any impacts on your view for Tang to run

Crosstab
agegp2 i
118-29 230-49 350 L Total
QS Chief Executive hopeful 1 Turn positive [ Count 7
Henry Tang Ying-yen e
admitted earlier having made. % within agegp2 - 4% 3% 1.3% 1%
a 'mistake” that damaged the 2 Tum negative 71 Count 87 138 115 340
bond vith his wie. Has the
incident caused any impacts % within agegp2 fF it 45.3% 35.1% 27.7% 34.0%
3 No impact/j &2 Count % 239 259 597
96 within agegp2 fF i 51.3% 60.9% 62.4% 59.7%
e 4 Don't support himin the _ Count 2 5 8 15
first place £ % 5
place AT % within agegp? it % 13% 1% 15%
8888 Don't knowlhard to say _ Count 4 o 28 a2
TSI
% within agegp2 fF:ff? 2.1% 2.4% 6.8% 4.2%
Total Count 193 393 15 1001
% within agegp2 fF i 100.0% 100.0% 100.0% 100.0%
Chi-Square Tests
Asymp. Sig. (2-
Value af sided)
Pearson Chi-Square 31556 8 000
Likelihood Ratio 31.253 8 000
Linear-by-Linear Association 10137 1 001
N of Valid Cases 1001

a. 4 cells (26.7%) have expected count less than 5. The minimum expected count is 1.42.

Q5 Chief Executive hopeful Henry Tang Ying-yen admitted earlier having made a “mistake”

Crosstab

that damaged the bond with his wife. Has the incident caused any impacts on your view for Tang to run in the chief executive election? R E R A &R M AL — * edugp_TP Education level B2

QS Chief Executive hopeful
Henry Tang Ying-yen
admitted earlier having made
a"mistake” that damaged the
bond with his wife. Has the
incident caused any impacts
on your view for Tang to run
in the chief executive
election? 17 71

edugp_TP Education level 5/t

1 Primary or 3 Tertiary or
2 Secondary 1 above A3
o P Total

1 Turn positive £ Count 3 0 7
% within edugp_TP Education 6% 0% 7%
level 5

2 Turn negative £ [fij Count 24 180 136 340
% within edugp_TP Education 18.2% 35.1% 37.7% 33.8%
level 5

3 No impact 7 e % Count 86 302 212 601
% within edugp_TP Education 65.2% 59.1% 58.7% 59.7%
level 5
Count 2 6 6 15

2 Don't support him in the
st ik £ il

f executive election? EEFRAIFRME— * agegp2 F#



9% within edugp_TP Education 17% 1.2% 18% 1.5%

level FfE
8888 Don't know/hard 10 say _ Count 15 21 7 a3
9 within edugp_TP Education 11.4% 41% 19% 22%
level SFE
Total Count 132 512 362 1006
9 within edugp_TP Education 100.0% 100.0% 100.0% 100.0%
level FfE
Chi-Square Tests
Asymp. Sig. (2-
Value dt sided)
Pearson Chi-Square 49.008" 8 000
Likelihood Ratio 43.768 8 000
Linear-by-Linear Association 18.207 1 000
N of Valid Cases 1006

2.4 cells (26.7%) have expected count less than 5. The minimum expected count is .96.

Q5 Chief Executive hopeful Henry Tang Ying-yen admitted earlier having made a “mistake” that damaged the bond with his wife. Has the incident caused any impacts on your view for Tang to run in the chief executive election? B35 R Al &R M ZE— * occgp Occupation R

Crosstab

occgp Occupation i

1Managersand 2 Clerks /
administrators/  Service workers
Professionals {7 and shop sales 3 Workers 45
FRHRAE  CRREHAR A 4 Students 4 6 Others 3t Total
QS Chief Executive hopeful 1 Turn positive IE [ Count 1 2 [ 1 1 3 7
Henry Tang Ying-yen

5 Housewives 5
21

e made % within occgp Occupation 2% 1% 0% 11% 8% 15% 1%
a"mistake” that damaged the L
bond with his wie, Hag he 2 Turn negaiive Z1ii Count %0 89 ] E) 55 50 330
incident caused any impacts 9% within occgp Occupation 35.5% 40.3% 20.1% 46.1% 36.6% 235% 34.4%
on your view for Tang to run o
in the chief executive = o
il 3No impact i Count 150 122 B 37 8 36 585
" 9 within occgp Occupation 60.6% 56.2% 64.7% 51.8% 56.2% 63.7% 59.3%
e
4 Bont support Aim inthe _ Count 6 T 2 o 3 4 15
lace 5 K 5l
st place: i 9 within occgp Occupation 22% 4% 2% % 19% 17% 15%
F
8888 Don't know/hard (0 say_ Count 4 5 3 T 7 20 o
B R
% 9 within occgp Occupation 15% 23% 4.0% 11% 4.6% 95% 41%

Total Count 253 221 78 7 149 214 987
9% within occgp Occupation 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
o

Chi-Square Tests

Asymp. Sig. (2-
sided)

Value df
Pearson Chi-Square 46.580" 20 001
Likelihood Ratio 47.201 20 001
Linear-by-Linear Association 18.102 1 000
N of Valid Cases 987

a. 14 cells (46.7%) have expected count less than 5. The minimum expected count is .53.
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